

Aprendendo de Casa

Aluno(a):

Turma:



Observe o exemplo

$$(+2) + (-3) = \boxed{+2} \boxed{-3} = \boxed{-1} \text{ soma e subtração}$$

Multiplicação e Divisão $(+3) \cdot (-2) = \boxed{-6}$

$$+ + = +$$

$$- - = +$$

$$+ - = -$$

$$(-4) : (-2) = \boxed{+2}$$

Agora calcule e resolva como no exemplo.

a) $(+3) + (+5) = \boxed{} \boxed{} = \boxed{}$ i) $(+2) \cdot (+2) = \boxed{}$

b) $(-2) + (-4) = \boxed{} \boxed{} = \boxed{}$ j) $(+3) \cdot (-6) = \boxed{}$

c) $(-2) + (-4) = \boxed{} \boxed{} = \boxed{}$ k) $(-8) : (-4) = \boxed{}$

d) $(+6) - (-2) = \boxed{} \boxed{} = \boxed{}$ l) $(+2) \cdot (+3) = \boxed{}$

e) $(-3) - (-1) = \boxed{} \boxed{} = \boxed{}$ m) $(-6) : (-2) = \boxed{}$

f) $(+5) - (+2) = \boxed{} \boxed{} = \boxed{}$

g) $(-9) : (+3) = \boxed{}$

h) $(-4) \cdot (-4) = \boxed{}$